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QUESTION 1

You are configuring IBGP and you must ensure that reachability is maintained between participating routers, even if the
physical topology changes. 

Which two actions should you perform in this scenario? (Choose two.) 

A. Configure DHCP on all IBGP devices. 

B. Configure an IGP within your IBGP network. 

C. Configure static routes to all IBGP peers. 

D. Configure IBGP peerings to loopback addresses. 

Correct Answer: BD 

 

QUESTION 2

Referring to the exhibit, which interface is assigned the active VIP? 

A. Router A ge-0/0/2 

B. Router B ge-0/0/1 

C. Router A ge-0/0/1 
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D. Router B ge-0/0/2 

Correct Answer: B 

 

QUESTION 3

Which two port security mechanisms rely on an accurate DHCP snooping database to operate correctly? (Choose two.) 

A. IP source guard 

B. persistent MAC learning 

C. MACsec 

D. dynamic ARP inspection 

Correct Answer: AD 

 

QUESTION 4

Click the Exhibit button. 

---- Exhibit Missing ---

Referring to the exhibit, which type of route is displayed? 

A. martian 

B. static 

C. generate 

D. aggregate 

Correct Answer: C 

 

 

QUESTION 5

Which statement describes GRES? 

A. GRES requires NSR to function properly. 

B. GRES provides routing loop protection. 

C. GRES provides hardware-level high availability. 

D. GRES rapidly detects link failures. 

Correct Answer: A 
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